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AND fill in the bubble(s) on the answer sheet.
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1. 9031 Hgdenumasn 7 31 sl amiusiarana 1. In the figure, there are 7 triangles. How many sides are there

all together?
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2. ¥9laoFuraneIny 1000 llﬂgﬂ@l@ﬁ 2. Which of the following statements correctly describes 1000?
@ ﬁiu’gu‘ﬁ@ﬂ'f’fﬂ"lﬂﬁnﬂ 9999 @D The number that is next to 9999.
® ﬁwmuﬁmmi”l 990 98 1 @ The number that is greater than 990 by 1.

(® The number that has 10 groups of 10.

® NuuNUNguaz 10 8¢ 10 NQY
. A , , (@ The number that is greater than 999 by 10.
@ UIUNVINNIT 999 2¢ 10

, (® The number that is greater than 900 by 100.
o = 1 1
® NUIIUNNINNIT 900 B8 100
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3. @niNG]@vl‘]Jﬁuﬁﬂ\iﬂ’ﬂiJElTJﬂJ’ENﬂ‘i%@H'HWﬂ NoUTUAAAZIY 3. The following table shows the length of a teeterboard that EunSop
HazANIN 181nM3IA9T9 1IHMINNAAINTLHINANNED estimated and the length of its actual measurement. What is
] @ { o Y a & { 1 1
ﬁﬂ1ﬂﬂ$l,uﬂ‘uﬂ’JHJEJTJﬁ’JﬂU],ﬂ%NHJuﬁ ). the difference between the approximate length and
; ; ; the actual length in cm?
a = A o Y a '
GERRN AINYIINATAASEY ﬂ'J'llIEﬂ’Zl‘I/]’ZIﬂ"lﬂ%iQ WA
Item Approximate length Actual length Difference
NITATUNN 34 325 .
Teeterboard 3m 325 cm

o ﬁ At I% 2A7 oqwsn @
whmplon T RRap [V gdiPak B

nnnnn




T™E Uszaudnuiii 3

4. nsismualn uaawwa ldminseulutesvestiguseu

v
~ =

A o a\ 1 woA A 9 B~
Tinseunyeuteditlavinniinseunseunalenau

'
v A I3

SminGeunyeuna lduaazyila

7 O

6 O O

5 O O

4 O O O O

; Ol O | O] O] O

) ololo|o]lo

1 olo|lo] oo
ﬁmauﬁnﬁauﬂ(:{'ﬁ worldla | @ SJ@;}% ndw | edu

= A o Y o A o
5. fl]'lﬂﬂ'lil,"llﬂuuﬁ'ﬂﬁﬂ’liﬂ?ﬂﬁﬁﬂﬂﬂ’lﬁuﬂiﬂ mgaﬂflu |:| ﬂ@@nla"lﬂﬂ
926
119

777
9y 1 J a { Y { { v o Y
6. volage lileTuanernuglamasuigialigndes
A

@ VUIAVDAYUIIFMINY
@ 1yAv0n 4 99

4 1
G ANVEINITMUMIAY

@ jiamasuiasaliduzldmasuyunin

9 = 1 Y v 1w
® ?fmmu“nag@Nﬂnuﬂunmm&mmmu

Y v
7. Tueihila 78 wa andruautingli 6 wa Sdesmsuiiaueiila

Tdne 8 9 uazm 9 nu vzAvuialdge geazing

[ @ 4

8. 1nilsz Tendadnvaimsaviidmuald Sy [ magihilu

g

o = Y ' o =) o
Sruu@edtu v niwaulu [ ae siuaula

w2-(1-0-0-0-0-0-0-0

9 ' g v o ° ' ¥ A

9. "U’E)slﬂﬁ’E]UlﬂuiJNﬁﬁW‘ﬁfﬂWﬂﬂWi‘ﬂTLl'Jﬂ‘lLlﬁﬂﬁ'lﬂﬁ]'lﬂ"llf]’t]u
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4. The given graph shows the fruit that students in ShungHun’s class

like. How many more is the number of students in favor of apple

than the number of students in favor of banana?

The number of students in favor of each type of fruit

7 O

6 O O

5 O O

4 O O O O

3 O O O O O

2 O O O O O

1 O O O O ]
N%m;nrz ] Apple Pear  |Strawberry | Banana | Grape

. From the subtraction given below, what is the digit in D ?

926
179
777

. Which of the following statements about a square is NOT correct?

(D The measures of the four angles are equal.
(® Has 4 vertices.

(® The lengths of the four sides are equal.

@ A square is not a rectangle.

(® The two opposite sides have the same length.

. There were 78 apples, of which 6 were thrown away.

When putting apples in 8 bags equally, how many apples

are in each bag?

. From the given subtraction statement, if the number in every D

is the same, find the number in I:I

2-0-0-0-0-0-0-0-o

. Which of the following gives a different result from the others?

D@Ex35)+(8x4) @@x10)-8 ®@’x8)+8
@E@Bx6)+B8x2) GB@Bx3)+(8x5+8

10. From the given mathematical statements, if the same figures

represent the same number, find the sum of M and A.

BxA=-32
BN-A=-2
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11. Which of the following is the problem that can be solved using

the number sentence 49 + 7 = |:| ?

(D How many candies are needed for 49 people if each person
should get 7 candies?

() There are 49 packs of erasers. If one pack contains
7 erasers, how many erasers are there in total?

(® There are 49 marbles. If 7 of these are given to a child,
how many marbles are left?

(@ The length of a rope is 49 cm. If it is cut and given to
6 people so that each person gets 7 cm long of the rope,
what is the length (in cm) of the remaining rope?

(® There are 49 sheets of colored papers. How many people

are there if each person should get 7 sheets of the papers?

12. ChunSop read a 63-page storybook everyday with the same
number of pages read each day for 1 week. If he is going to read
another storybook of 54 pages with the same speed, how many

days will he take to finish reading this other storybook?

13. SawYoon has 3340 won in a piggy bank, detailed as follows.

— 1000-won note 2 notes
500-won coin 2 coins
3340 won — 100-won coin [Jcoin(s)
50-won coin 2 coins
L 10-won coin 14 coins

How many 100-won coins does he have?

14. What is the number in I:I ?
597 -348 =597 |+2
=247 +2

=249

15. From the number sentence given below, how many digits,

from 0 to 9, can be filled in |:| ?

2[ 196<2898

16.(7x7) - ((a]x4)=37
The above number sentence is used to find the number

of apples below.

What number does E represent?
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17. The following figure shows the stack of wooden pieces (a),

18.

19.

20.

21.

wooden pieces (b), and 12-cm wooden pieces.

12 cm 12 cm

(a) (a) (a)
(b) (b) (b) (b)

Find the length, in cm, of one wooden piece (a) and

one wooden piece (b) combined.

A square is folded into 4 layers as shown.

________ ) \/

Then, cutting off the portion on the right of the dotted line in
the last figure. If the remaining portion is unfolded and
the measure of its perimeter is 28 cm, what is the length

(in cm) of the dotted line in the last figure?

If each number in |:| has

a certain relation with
the numbers on the vertices e
of its triangle,

find the number in the blank.

The number in |:| is a three-digit number that has the same
digit in the hundreds’ and ones’ places. If the following sum

is closest to 700,

393+ ]

what is the number in |:| ?

From the addition statement of three numbers given below,

35/a|+2bl6+[c|79=[d]042

what is the value of a+b + ¢ + d?
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22. Create Figures B and C by folding the rectangular colored

paper A as shown, then cutting and unfolding it.

If the sum of the lengths of all four sides of Figure B is 36 cm
and the sum of the lengths of all four sides of Figure C is 22 cm,

find the sum of the lengths of all four sides of Figure A, in cm.

o . EXAMPLE
23. A pyramid is composed of six
numbers, in which each number 5
results from dividing the sum of 4| 6
the numbers of the two blocks
21616
underneath it by 2, as shown in

the example. If the blank spaces are to be filled in using
the counting numbers from 1 to 9 and the method in the example,

find the number in position A.

24. To form a rectangle, 20 square tiles with the side length of
3 cm are placed without any gap between them. If the rectangle

has the length of 12 cm in the vertical direction, what is

the length (in cm) of this rectangle in the horizontal direction?

25. Numbers are arranged based on the following relation until

the 25" arrangement.

1]
T 121
[1]2]1]  [i]z]s]z2]1
First Second Third
arrangement arrangement arrangement
(1]
11211
17213121
1{213]4]13[2]1

Fourth
arrangement

Find the number of blocks in the 25" arrangement that contain

digit 15.

26. Stacking a certain number of cubes such that the front, top,

and side views of the stack are as follows.

Front Top Side
What is the least number of cubes needed in the stack to get

such views?
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27. There are marbles in three

bags, A, B, and C. Later,

28.

29.

30. There are points on line segments, A

3 marbles are taken from

bag A and put in bag B,

2 marbles are taken from

bag B and put in bag C, and 1 marble is taken from bag C and

put in bag A, as shown in the example. If the above steps

are repeated 100 times until bag A has 100 marbles left,

then how many marbles were originally in bag A?

Reward Score Table

The following
Name | Score | Name | Score | Name | Score
table shows Sooli 57 Mina ChunSop| 29
the reward TaeMin| 68 |OuYong| 46 |TongMin| 75
Yonglinj 25 | SooJin 43 | MinSoo| 48
scores of
) SooJong| 21 | OunAh 7 HaOun| 39
students in YonHe 19 |YongKyo| 53 |ChunSok| 61
Mina’s class. |YoonSop| 14 |SooRim| 36 |EeSoul| 63

Mina’s score is higher than YonHe but lower than ChunSok.

When all students in the class pair up and scores of each pair

are added together, it appears that every pair has the same sum

score. Find the reward score that Mina has.

From the following conversation, what is TaOun’s number?

TaOun :

AhRum : TaOun, what is your number?

TaOun : Wanna guess? It is a three-digit number ABC,
A+B+C=12,and 4 X Bx C=42.

AhRum : T have no idea still. Any more clues?

A <Band B < C. You know it now, don’t you?

AB and BC, as shown. A number

of line segments are to be drawn

by connecting the points on

line segment AB with the points

on line segment BC. If 3 connecting segments are drawn,

B

there will be at most 3 intersection points of these segments,

as shown in Example 1.

—| EXAMPLE 1

EXAMPLE 2 '—

A

B

Similarly, if 4 connecting segments are drawn, there will be

at most 6 intersection points of these segments, as shown in

Example 2. What will be the maximum number of intersection

points obtained if 10 connecting segments are drawn?
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